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kilometr hektometr

powierzchnia śr powierzchnia
odległość

objętość nadmiar objętości suma algebraiczna
wykop nasyp wykop nasyp wykop nasyp wykop nasyp wykop nasyp

+ - + - + -
m3

+ - + -
m2 m2  m3 m3  m3

0,00
0,00 3,33 0,00 0,00 -

3,07 0,00 17,00 52,11 0,00 0,00 52,11 0,00
17,00 2,80 0,00 52,11 -

1,58 0,11 32,00 50,56 3,52 3,52 47,04 0,00
49,00 0,36 0,22 99,15 -

0,22 0,37 17,00 3,66 6,21 3,66 0,00 2,55
66,00 0,07 0,51 96,60 -

0,40 0,37 14,00 5,53 5,11 5,11 0,42 0,00
80,00 0,72 0,22 97,02 -

1,31 0,11 10,00 13,05 1,10 1,10 11,95 0,00
90,00 1,89 0,00 108,97 -

1,17 0,17 38,96 45,58 6,62 6,62 38,96 0,00
128,96 0,45 0,34 147,93 -

RAZEM 170,5 22,6 20,0 150,5 2,6 147,93

zużycie na 
miejscu

mb


